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Note: The question paper is in three sections. The candidate has to answer 5
questions each from section | and section ll. Each question from Sections | & Il
carries 10 marks. Also, the candidate has to compulsorily answer all the 4
questions from section Il and each guestion carries 12.5 marks.

The question paper is set in English and translated /o Telugu. The English version

is considered as the authentic version for valuation purpose.
Enough space is available in the answer sheet for writing all answers. There is no
provision for additional answer sheets.
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Section - |

Pl —I
1(a) A £Zand C enter into a partnership business with investments in the ratio

L
-

|
| L
v

After four months A increases his share by 50% while Zwithdraws Ird  of  his
share. If the year end profit is Rs. 4,09,000, then find the share of Cin the profit 2
OR
(b) A person Psells an item at Rs.100 less than its marked price and receives 10% of
his selling price as his commission. Another person @ sells the same item  at

Rs. 200 less than the marked price and receives 20% of his  selling price as his
commission. If they get the same commission, then find the list price of the  item.
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Two persons A4 and 5 agree to finish a piece of work in 5 days for Rs.28,800.
But .4 alone can complete the work in 10 days while, Salone can do itin 12 days.
By taking help from another person Cthey finished the job on time. What is
the share of £ in the amount of Rs 28,8007

OR
For how many integers of .x does a triangle with side lengths 10, 24 and .xrhave all of its
angles acute ?

AP A, F28 DI 6r.28,800 0 5 FreS) 1o ook aiyHokrd.
T A aZE o DI 0 Faf iy Fafd o 0D 12 Sed ar e
dodiod. woddd 8 38 C dHabod b o DID AHS'™ e BN
28,800 drdrabed’ Covdr Jod ?

dor
oo Tedpen 10, 24 oain xtr o sV ed) forw viw Frw

u:ﬂ:&tg MYy P osL X e Suip ?

Six distinct integers are picked at random from (1, 2, 3,...,10}. Whatis the
probability that, among these selected, the second smallest is 3 ?

OR
A box contains 11 balls numbered |, 2, 3, ..., 1. If six balls are drawn simultaneously

at random, what is the probability that the sum of the  numbers on the balls

drawn is odd ?
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The population of a country in the year 2000 was estimated as 641 million and in
2010 the estimate was 705 million. Assume that the population grows linearly
with the time. Then
(i)  What would be the estimate of population by 2020 ?
(i)  What was the population estimate in 1990 ?

OR
The population of a country was estimated to be 1.22 million in the year 1989 and to be
growing at the rate 3.4% annually. Then
() i t=0 denotes 1989, find formula for the population at time £
(ii)  When will the population gets doubled ?

v 3%o aTrar 2000 DoddyGes' 641 BabI mr 2010 DoddGos® 705
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dor
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Inamﬂainpupmaﬁunmemﬁuufnunherufwmmntuhmumberufmenis 11:10.
Ifﬂmavemgeage:rfhamnissdyaarsarwdmﬂavemgeageufﬂae men s
32 years, then find the average age of the population ?

OR

(b) When a student ~ walks to school, he averages 90 steps per minute, each of his

S ()

(D)

6 (a)

steps being 75cm long. It takes him 16 minutes to get to school. Another student
& going to the same school by the same route, averages 100 steps per minutes,
but his steps are only 60cm long. How long it take @to get to school ?

28 averd’ b, OO Jopjo Apgd 11:10 o D Sabioy 34
RodOTre, HERL DD DAY 32 DoSBYTTL) WANVPED, & BT PrihD
Daiioy 8208 od ?

dor
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DEB000. 8 Srges’ 08 LA DT, HE DR @ B, edxd 60 D
Fend Hitns DS 100 edyien Sr AR obrtd @ wdd 3668 Jod
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Section - |l
ety -l

The following Pie diagram shows the monthly expenditure of a family towards heads:
Food (A, Education (£), House Rent (4), Savings (.5) and Others (44.

Answer the following questions, using the above diagram.
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(i) What percent of the monthly income is spent on Education ?
(i()  Which two heads consume 40% of the income ?

(i)  Which two heads consume 45% of the income ?

(iv)  What percent of the monthly income is kept for Savings ?
(V) What percent of monthly income is spent on Food ?

OR

The production (in lakhs of units) of three types of products 4, & and € during
the years 2011 through 2015 by a company is tabulated below. Assume that the
costs of producing one unit of each of the products 4, Sand C are respectively Rs.3, 5
and 4.

201 2012 2013 2014 2015
A 50 35 60 50 70
-4 45 50 45 95 80
c 35 60 55 60 50

Using the above table answer the following questions.
(i) During the five years, on which product the maximum amount was spent ?
(i) What was the total production cost of the product Zduring the last three years ?

(iii) How much amount was spent on production of .4 and S during the years 2011
and 2012 ?
(iv) What percent of total units produced constitute the units .4 produced ?

(v) What parent of the total cost of production was spent on production of Zin all
the five years put together ?
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(i) DB0 Jurch DoDBYTHS, £ &0 @G Saordd Dy Band
2o Jod?

(i) 2011200050 2012 2odDEVDS, A, FON @G Sabeedd ndy DY S
S0glood ?

(v)  Dwgo ety B35 abrdPS’ Jod T80 A CLPIPD @G I8 ?

(V) D oSS! :mgoaahgumaé‘:mm&g% Bowed ?

7 {a) Car Production in India

IMDiA CAR PROMEC TION
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Quarterly car production in India during August 2015 to July 2016 is shown in the
above bar graph. Using this, answer the following questions.

(i) During which month and year was the production lowest ?

(ii) During which months and years the production levels are equal ?

(iiiy By what approximate percent the production increased in March 2016 over
February 2016 ?

(iv)  What is the approximate percentage growth rate in the production in July 2016
compared to June 2016 7

(v)  Over which period production growth rate was on the increase ?

OR
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7(b) Annual GDP Growth Rate

THDHs GDP AMMULL GROWTH RATE
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India's GDP growth annual rate for the years July 2013 through July 2016 is
shown in the above graph. Using this graph answer the following questions:

(i) During which period the country has witnessed the lowest GDP annual
growth rate 7

(ii) Over these four years which period recorded highest GDP growth rate ?

(i)  During which periods did the GDP crossed 7.5 7

{iv)  Which period witnessed shamp downfall in GDP annual growth rate ?

(v) During which periods the GDP was below 7 ?
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Each of the following sequences follows a definite pattem. Fill in the blanks to
complete the sequence without breaking the pattem.

() Nigs Kiz1, Hogar
U &P BH
(i) ¥ asb=3(a+b) and a®b=ab+ab® then

20@3®s5)=____
(V) BY £V, HS, KPR,

(v) 3, 10, 21, 36, 55,

OR

(i) In a certain code APPLE is coded as ZKKOV. Then what is the code
word for CODE in the same code ?

(i) I BUTTER is coded as 123345, then what is the code word  for TUBE ?

(i) If, in a code, AXIS is coded as 02250920 then what is the code word for
AGENT ?

(iv)  If, in a code, WLSFD is the code word for ALERT, then which word is
coded as LOJTSE ?

(v) In a certain code, TEACHER is coded as GVZXSVI. In the same code,
what is the code word for STUDENT ?

$08 Dabedd 8O §d a8 PDBPB ESrD) VR 0d @ g37D8 Lo
gurigot grdui  HTFtodod.
(i) Nigs, K131, Hogs,

(y 4L A ____, 8 H
(i) Wa+b=>(a+h) and a® b = a*h + ab* eond

20B®s8)=_____
(v) &Y £V A5 AF,

e

(v) 3, 10, 21, 36, 55,
10
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Jdoe

28 %) DOrOS' APPLE &0 ZKKOV e grd8. eipdh o8 Hograd’
CODE cdws), §'& 0650 20 2

BUTTER & 123345 r &£ 3%, TUBE £ §£ D& 7

28 B& &', AXIS %0 02250920 r» §'& &%, AGENT & 5'& Do 00 7
28 8& &', WLSFD 36 ALERT £ £'& wand, D Do LOJTSE e
'€ SabedH6 7

w8 €& &, TEACHER &) GVZXSVIre €& daberdod o £& &
STUDENT & £'& e D& ?

9 (a) Each of the following sequences follow a definite pattem. Fill in the blanks
breaking the sequence.

(i)
(ii)
(ki)

(iv)

(v)

(=1)x0(1), (2)x3(10), (5)xs(1p),

2(4)8, 4(24/10)10, , 6(3v8)12,

A K8 4

Vos. Ups. Sos. » My, Hig
OR
11
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(b) (i) In a certain code WHALE is coded as 2308011205. In the same code

language what is the code word HIPPO 7

(il  If CORNER is coded as HTWSJW then what is the code word for
LINES ?

(iii)  If the RAM is coded as IZN then which word is coded as GLOO ?

(iv)  If LIGHT is coded as 34567 then which word is coded as 74567 ?

(v)  If the words VAST, COST are coded as TO119V, T1519C respectively
then which word is coded as E1518M ?

9 (D) gots Doexdd LD §3 PSS A1) FBRY 00 & 3rDS Horko Serithor
FrOudn rooded.
() (=1)x(1), (2)x3(10), (5)x¢(1p),

(i) 2(4)8, 4(2v10)10, , 6(3V8)12,
(i)

(ivy X ¥ 5 0 4

(V) Vos, Ugg, Sos, —, Mys, Hy.
do
(D) (i) w8 8E &' WHALE & 2308011205 e £'& 350 «d & ° HIPPO
aRog), EE Do DA ?

() CORNER & HTWSJW e E'& 35, LINES & §'& 50 D6 7
(i)  RAM &3 0do IZN re B& &%, D Do GLOO r £& Saepood ?
(iv)  LIGHT & 34567 re §'& &%, O Heto 74567 rr B'E dabd exd 58 7

12

sakshieducation.com



sakshieducation.com

(v}  VAST, COST Doren dddme TO119V, T1519C e & &8, O ddo
E1518M ™ E'& Sabdood ?

10 (a) A survey conducted, on 100 students in a college on their playing habits,
revealed the following information:
41 students play Cricket ( &),

35 play Football (4,

24 play Hockey (/),

10 play both C'and £~

8 play both Fand A

9 play both #and C

and 18 play exaclly any two of the three games.
(i) How many students play all the three games ?

{ii) How many play more of these games ?
CR

(b) Readership survey conducted on 1000 persons with regard to English dailies .
and 7is given below:

515 persons read /
345 read O,

310 read 7;

55 read /and O
50 read Dand T
70 read 7and /

and 10 read all the three, Can you find any fault with the survey ? If so, why 7

13
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(i)  S0rdoldd & Jodh ?

(i) 9 ed wdd Bt 7

dor
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1000 Suodp BODD DIS'D Dhairew GodsAabadraw :
515 008 / & Schipord,
345 Jod £ H SpHord,
310 H008d 7 A Scdpord,
55 ol / Hodin O o Scodpord,
50 &008 O Hdain T Ao dcoipor,
70 S008 7 oain /A Scpord,
S08ain 10 dwed Jurd ol Seuspord.
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14

sakshieducation.com

Dotiodod)



sakshieducation.com

Section - I

ereiaad -l
Read each of the four passages given below and answer all the five questions at the end of
each passage.
800 4 petaivol SAD PO DEsHIN D6 RSEWED DL VI VD SOYIVAT BT
Frobod,

" Food Security in India

India is one among the few countries in the world having Govemment held stocks of
food grains for meeting the requirements of natural calamities, ensuring price stabilization in
case of crop failures and for providing food grains under Public Distribution System (PDS).
Since Independence India has travelled a long way towards the crudial aspect of food security
from being an importer of food grains to one of being self-sufficient in its requirement of food
grains. While its food grains stock position though looks satisfactory with sufficient buffer stock,
the paradoxical situation is that according to the Global Hunger Index 2015, India ranks 80™
position in a group of 117 developing countries. This apart India's hunger index score for2015
was 29.0 and the proportion of undemourished in its population was 15.2% (i.e. one in every 7
person during 2010-14) which indicate the gravity of a serious situation with which India is
found to be sailing. Therefore, food security in India has to be seen in a broader context
covering the varous aspects like hunger, malnutriion, absolute poverty, addressing
inefficiencies in the delivery channel, proper identification of beneficiaries so as to improve the
overall living standards of the people and thereby getting rid of absolute poverty from the
country. Thus, food security in short implies “Access of food grains by all people at all times to
sufficient quantities of food to lead an active and healthy life".

Questions:

Explain the food based safety nets to tackde the food security problems in India.
Write a note on National Food Security Act 2013.

Mention the flaws in PDS of India and suggest suitable remedial measures.

Discuss the areas of food security concems India is likely to face in future.

Food Security as had been well said should be “Never give a poor person a fish to eat
but rather teach him how to fish".- Comment

O oA wN
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260 POSdBLME, Dot DOMP DoEINED G6S" J E8(0JVDEIE 0 LI
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50w 117 650 Tothaod) 7w DA’ 2880 P Hos" &) DOGDH VOY,I
RUED God. Roddh 5%, LG (w8d) ArdE, 2015 &' rod WS 29 Moo oD
BT’ 15.2% (S 2010-14 &' PO 70OS" wsh) UFETID & axry . 20 P6d 3y
0P ) Db SV H DOY O AHHHBR AFDRY o8 oI wsd, FisEs Soaw,
©3 Drogain, Do Ardined’ BRI BOMDeBEIY, FOWD VrhL Jods dotd
LoTun H[YS" Dep D Juo Ang, A58 YIrTOD DXL BESEDS B0 DY
OE ) B¥o Wwod FoForrds, o0 BEY YN FEOD DV G EGeS Srerd.
©oBUD, HYOT UG FE6 ot ‘FairIvPHd Mool WBHEcRLD 23B0 FAcSERS,
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g»‘llf.u:

1 2768 3%06' UFC HEO DD BHADDHLE VIV YT FEO JLAHIVL
8o DSBosod?

2. &rdaD Y GO Sio, 2013 D Ddde graoed?

3. 20 B4 Py Dodd DY (D & IB) S ShaweR) oA FBD Fulen
O SO BenDdod?

4. SO &' oS BT WG PGS Do’ wollvd Do (DA Egswe 10D
B0 0ciod?

5. ST IODND D™ L6 HEO ) DG Gomrvod] “w DETDE I oM
2y wen 618 Bdew DREDL Iy - T§ErsRoted?
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12. Sustainable Development

The need of the hour is not just development, but eco-friendly development, that is,
development endowed without the destruction of environment and over exploitation of its
bountiful gifts bestowed to mankind. The 11" Five Year Plan has emphasized and advocated a
development process that is environmentally sustainable. Since our natural resources such as
water, land, and minerals are limited, their per Capita availability is actually diminishing
because of rising population and also because of imational exploitation of these resources.
Therefore, a strategy that could not only preserve and maintain natural resources but also
provide for an equitable access to those who do not have access to them was adopted with a
firm belief that untii and unless environment protection is brought to the centre stage of our
policy formulation the desired result could not be achieved. Otherwise it was felt that what is
perceived to be development may actually lead to deterioration in the very quality of life.

Questions:

1 What do you understand by Sustainable Development? Explain its importance.

2. Examine the causes and consequences of environmental degradation.

3. Describe the methods that promote conservation and maintaining of natural resources
for common good.
Discuss the Govemment policy towards protection of environment.

B Environment protection is a luxury for developing economies - Discuss.

12. RN O 0D

DO Odmods’, Fdve DG FOV® DoEdn AR BOnG €30 din
VIDOBD. BT, DOFHOEEY) THde BaALHOE® WO JrdS 2rdd Bordjed QIdodEEH
LTVRBLD DSNeDAT Sdd Sabiher a0dedig T 115 Do SY HErPs, Doy
DABT R0H EWISHDG TEAHD DYedod 0ok I I8 HedodND, Ju WO
DHBIVL ot} PO HAMW DOWO DOAFRS’ Godbd A4 BT DAXDLOL IO
So0ain DSEPSrs SbAd édio dd & HIMY VDS VS TYTE G DA
©ocdd, Derd ArdsuNdS' Doon DOCEND Hog Dot Sabbom® b D)
oEfd) FGoddan 6d GE HEIE, DEHO SWe Dedin Mo P wr JsGrnd By
DI Socertnd” I 308, ¢ HIMD DIFBT Bwodol JrFFY) DEdesto 0N
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5. 09,4 Dot B DoTB0R DOCKN 18 DOV Sy H- S0 oSed?

13. Gender Discrimination

Gender discrimination is a universal phenomenon and it is attibuted to several
factors like economic, social, political and cultural taboos. Though the policy-framers,
Govemment, civil society , social reformers, NGOs and feminist organizations are no doubt
putting enormous effort to minimize gender discrimination but still it is continuing to be
prevalent in both the developed and developing countries. However, the magnitude and
degree of such gender discrimination keep varying from country to country. The gender
discrimination in the Indian context is quite noticeable by virtue of the declining trend in female
sex ratio, literacy level, employment avenues, income inequalities, wage differentials and
property rights, etc. This is one of the biggest challenges facing India and unless it is
addressed on war-footing basis it will have a cascading negative impact on the very growth and
development path being pursued by India since it has been proved universally beyond doubt
that women are equal partners in the development process of any nation.

Questions:

1. Explain the causes for the declining female sex-ratio in India and suggest suitable
remedial measures.

2. Comment on the issue of “Missing women".

3. Is section 498A of IPC really a panacea for redressing women's problems against
domestic violence? Discuss.

18
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4. Do you think empowerment of women can minimize gender discrimination? Substantiate
yOUur answer,
5. Examine the policies initiated by the Govemment for upliftment of women.

13. Doti DOLS
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SRy )OS 0DHY Dodd Doak Do) ST’ 20 HuvomEchir Iy HA 0d,
Dot DOMG gy, DOIrndn Sdcin O30 34 AT ArdOr aotnod. rod 3%
DoaTryDd 3, Bort APYS' SRS BrPBoD) B o TELLTRO Tho, &3¢ ST ey
worabe’ edArdGe, 363 HSow, eld DO WP Jaren  DBHRS'
8708 &) e, Boft DdL QRO PEdiddpdoed. rdd S8 dwechd) D Aoy’
20 £ w88, D Y wHHG VLD HLRIFD FPIPTIVED B DI TR,
Riyodirorr anerDd Sdied’, aog PAVOEN, Do DILOD st Saed’d S pnd
Sodain eDHBY DEPUDE Bodw GAErL YErSo Golvod.
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14. Health Care System

The general health care standard in India is quite low compared to many other countries
around the globe. The basic cause for the poor health status of the large chunk of its population
in India is its wide spread poverty. The Govemment of India has focused its attention on this
vital aspect from time to time and had come out with various programmes and policies aimed
at achieving an acceptable standard of good health amongst the general population of the
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country. To name a few ,The National Health Policy 2002, The Common Minimum Programme,
National Health Mission, Pradhan Manti Swasthya Surksha Yojana (PMSSY), Swachh
Bharat Mission, Pulse Polio Programme, National Aids Programme etc. Yet, there is no
denying of the fact that the progress in improving health outcomes in the overall quality of
health care being extended to its vast population over the years is apparent though at a
siow pace. But its wide inter - state, male-female and rural- urban disparities in outcomes and
impact still continue to persist. Therefore, as a result India continues to face an extraordinarily
high disease burden which saps the productivity of not only the present Indian working
population and their contribution to its economic growth and development but also can have
a cascading effect on the future generation as well.

Questions:

1. Affordability of health care is a serious problem for the vast majority of Indian population-
What measures according to you should be taken to redress this problem?

2. Comment on Swachh Bharat Mission and mention the initiatives taken by Govemment in
the implementation of the programme.

3. Suggest suitable measures to strengthen the govemance of health care system in India.

4. Do you suggest levy of user fee in the Andhra Pradesh Public Health Sector as is being
levied in other states of india? - Justify.

5. Do you concur with the opinion expressed in ‘Lancet’ study 2015, that poor coordination
beiween the cenftral and state Govemments as one of the main constraints as to why
universal healthcare is not assured in India? Justify your answer.

rfvos’ uds ads dvod OB orh oo B9 dordn wbdy Dosker
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S0g AR Aoder dirad (5 Do D D P), AgEy od S, Dby J'VAr srEgERD,
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